iy

TRETIR G /NEIRWE TS

RS




No,

2R BE BAfi = B {f +%8 i =
Tt REE/NERBETIERNRE

) EEITEE =K 1.0
2) HBEREE = 1.0
3) RGEHE = 1.0
) —REBE = 1.0

/VET

&t

(TEMBNILBEHBECEHT HEFRTE)

HE




X HE Bl | #E B
D EEIEH
A _BETE 2 10
B EBRRHETE = L0
C_HHMBHIE = 10




No,

B HE BT = ==X &% & e
EBE - R2B - DARKLRE

2) HAERSEE HBEEs  2EERs - wmnges | X 1.0

FEALIT)

b= EEERIE ANzl 4.0

INEE

3) WIGEHEE
4) —BREEE
5 EHEXE




No,

B HE By 2 B &% &

A BETE

A-1 BEERERTE = 1.0
A-2 BEN284%) = 1.0
A-3 BEQBEHSE) XRE = 1.0
A-4 2 FHWG-EE /oMN--EERETE 2 1.0
A-5 3R FiEL VG (8K = 1.0
A-6 EFEERT = 1.0
A-7 AZa=TF4)L—L = 1.0
A-8 FEEXE=1-28E = 1.0
A-9 2BETSR FREERRER F2 1.0
A-10 RETHE = 1.0
A-11 ZDfth = 1.0
A-12 SHERIET S X 1.0
A-13 5 &RBAK T X 1.0
A-14 WETE = 1.0
A-15 HAMNIE X 1.0

INEE

BEt




No,

AR S Bfy HeE B fiff Gt wE
A-1l EEREETE

EEU.25F4))

B4 RERRUE 1E S HE m 128.0
BEEE RERRUE 1E S HE m 128.0
NER R 15 MES 37AH m 128.0
BEQELE) XRE)

B5 RERSUE EEBUE m 64.0
B5 RERSUE 1B RIS m 17.6
BEER MERUE EEWE m 64.0
BINER RERRIE {8 Rl g m 17.6
NER R 15 MILEs 37AH m 81.6
(2B FHRLNE-BE)

BHE RNERIE EEBUE m 15.2
B4 R ERRIE {8 Bl g m 37.7
BIRER NERIE EEBUE m 15.2
BIEER R ERRIE {8 B g m 37.7
NER R 15 MISLES 37A m 15.2




No,

AR S Bfy HeE B fiff Gt wE
(3R FEL MG (8ER)
B4 RERSUE EEBUE m 6.5
B4 M ERRE {8 Rl g m 12.4
BINER RERE A WS m 6.5
BINER MBI {8 Bl g m 124
NER 12 15 MES 37AH m 6.5
(B FEERT)
B5 RERSUE EEBE m 9.3
BIREIR MERUE EEWE m 9.3
N AR 12 15 MILEs 37AH m 9.3
(AZa=Taq)—L)
B4 RERSUE {85 SE m 8.1
BEIRER R ERRIE {8 B g m 8.1
NER R 15 MISLES 37A m 8.1
(BEER=1 - 22K18)
B4 NERSRIE {E A kg m 124.0
BEIREIR MERRIE {8 Bl g m 124.0




No,

AR TES B | #HE B {if &% "%

GBI E)

B4 S EETRIE m 331.0

BEER S EETRIE m 331.0

AN: L] BE 15 m 318.0

SR B 15 CUREARS SS10mUT | m 30.8

5L ER B 15 CCURRBRES SS20mUT | m 12.1

(S ERBAIK T Z)

B4 E g m 167.0

BIEER ELRE m 167.0

/VET




No,

AT BE B H= ==X &% e
A-2 HE(,2FH)
(RKIZE)
K 1=—vykoO7— AN—AR—Kt-25 m 124.0
K 28— 45115 + R=4t-90 [FE R m 124.0
hA K&H-60 m 30.2
HtAR#%40%40@455 (avy')—rm)
B KT 1 IR#%21%45 @455 m 98.9
B S5 & Rt-5.58G (K TFih) m 60.4
B PIERt-98k (AT #h) m 67.6
E Rulig 15%40 m 17.0
Bao——RUE& 35%35 m 17.8
AREZEE 95%25 m 34.6 7ILIEER
AREZEE 55%25 m 235
L—7,050
Hh—ToRy IR KE W-160 H-100 t-25 il 1.0
SR
RY—IJLIN—T— 3 (K&) W-6,500 H-2,660 il 1.0
L—6,470
h—ToRy IR KEL W-160 H-100 t-25 il 1.0
SR
RY—IJLIN—T— 32 (K&) W-6,500 H-2,660 il 1.0
23 KTiH+>7&Hkt-5.585 |W-550 H-120 m 46

(KIXE) & &




No,

AR S By HE B fif &% wE
(REIH)
26 A F 4 W-1,200 H-1,500 D-600 il 2.0 OSCLit EIF#
wmiREAN W-500 H-2,000 D-600 ZA7il 2.0 OSCLit F(F#
D=2y R W-500 H-1,000 D-600 il 2.0 OSCLft EIf4t
BE@mOvh— W-5,325 H-1,000 D-600 4R 2.0 OosCLit EIF#t
(REIZE) & &

(METE)
B BEEILAIA— LWL t-20 (ShEE ) m 15.0
B ARV O —Fk (R TFih) m 60.4
B EEREETH W-100 m 54.5

&L w58 m 23.5
B PB9.5 + PB12.584 (LGSTFith) m 31.7
XH BESHERIATH m 124.0
X SRR ERE-9.5 PB9.5 Fith m 124.0
Kz EE m 63.1

(RETE) 5 F




No, 10
Ex e B H= ==X &% e

(FEETH)
K 7209 JwHRE LT m 61.6
0SCL ARERHA D m 118.0
0OSCL ARER m 75.9
A&EE OoSCLiLEITF m 64.8

(BRTE) o &
(BIRIE)

CBffUDRASA & —
AF—ILT ) —BHE W-3,600 H-1,200 vasil 2.0
BE.E Bt &R TE il 2.0

T=H
AF—ILT)—Fm| W-1,200 H-1.200 vasil 2.0

(BIRTZE) & &t




AT BE BT M= ==X +%8 e
(ZDHBEIETE)
H—TF> L—7,050 L—)L LAl 1.0
HSRH
TILESEFENY Y o W-7,000 H-1,900 Pdiil 1.0
H—TF> L—6,500 L—)L LAl 1.0
SR
TILZEEE Ny o W-6,470 H-1,900 Aol 1.0
HwSa EILZILED m 41.7
Hyiaa—x25 m 345

(ZOMBETE) 5 3




No, 12
AT BE BT M= ==X +%8 e
A-3 HE(3FEE) XRE

(RKIZE)
K 1=—vykoO7— AN—AR—Kt-25 m 62.1
K 78— 5t-15 + R=4t-90 |FE 5 m 62.1
hA K&H-60 m 30.8

HtAR#%40%40@455 (avy')—rm)
B KT 1 IR#%21%45 @455 m 78.6
B S5 & Rt-5.58G (K TFih) m 49.1
B PIERt-98k (AT #h) m 59.8
E Rulig 15%40 m 8.1
Bao——RUE& 35%35 m 17.8
AREZEE 55%25 m 11.8 7ILIEER

L—6,770
H—ToRyH R K& W-160 H-100 t-25 LAl 1.0
RY—IJLIN—T— 32 (K&) W-6,500 H-2,660 il 1.0

(RITFE) & &t




No, 13
AR S By HE B fif &% wE
(RETI=E)
26 A F 4 W-1,200 H-1,500 D-600 4R 1.0 osCcLit bIf#
wmiREAN W-500 H-2,000 D-600 ZA7il 1.0 OSCLit F(F#
D=2y R W-500 H-1,000 D-600 il 1.0 OSCLft EIf4t
BE@mOvh— W-5,325 H-1,000 D-600 il 1.0 OosCLit EIF#t
(REIZE) & &

(RETH)
B ARV O —Fk (R TFih) m 49.1
B BRERFETH W-100 m 21.5

&L w58 m 11.8
B2 PB9.5 + PB1258 (LGSTFih) m 32.5
XH BESHERIATH m 62.1
X SRR ERE-9.5 PB9.5 Fith m 62.1
KIEg EE m 32.5

(RETZE) 5 F




No, 14
Ex e B H= ==X &% e

(FEETH)
K 7209 JwHRE LT m 61.6
0SCL ARERHA D m 85.8
0OSCL ARER m 64.0
A&EE OoSCLiLEITF m 32.9

(BRTE) o &
(BIRIE)

CBffUDRASA & —
AF—ILT ) —BHE W-3,600 H-1,200 vasil 2.0
BE.E Bt &R TE il 2.0

T=H
AF—ILT)—Fm| W-1,200 H-1.200 vasil 2.0

(BIRTZE) & &t




B LS By | #HE B {f ok L] E
(ZDthBIETE)
h—T> L-6.770 [ 223 Zail 1.0

(ZDMhBIETE) 5 &

/VET




No, 16
B TR HE Bify e B fiff ®%8 "%E
A-4 2B FHWNG-BE NUN--EEREIE
A-4-1 2F% FHWNG-BE
(KI%E)
K 1z=vhoa7— AN—RAR—Ft-25 FZiEH m 49.8
R_MARN=t-12 m 49.8
mAk A&H-60 m 13.7
HEAF 3 40%40@455
o N IR #Z21%45@455 m 36.9
ﬂiti‘:;%%*g;ﬁ 55 %gﬂi -2,660 [BE H-2,000 @& : =
BARBISY ART7— ASIEE SV HAIR) - # vl 1.0
=A% W-855 H-2672 60*25 il 1.0
(KIZ%E) 4G
HNETE)
K RRO—HBA m 49.8
Xt BEHKBRH THME m 14.6
XH# EHBEER—Ft-9 584 TR m 14.6
Xz EE m 15.4

(METH) 5 4d




No, 17
AR S Bfy HeE B fiff Gt wE

(BETH)
0SCL AER AT m 36.6
0SCL AER m 36.1
AEEE oscLiE LIS m 3.9

(BETZE) HRE
(ZD1hBESETE)
ATULRER 40%20 W-855 il 2.0
ATULAFEFEL L-7.010 H-690 D-600 % 1.0

K#EIN 94 FR
ATVLAEER L-7,010 LW-240 X 1.0
LA mEIKIRLATYL AR H-800 _W-700 il 2.0
% W-7,010 H-600 P94 (SUS) £ el 1.0
Ho—x25 m 14.5
K ERO—F DyOREHT m 49.8

(ZEDMBIETE) 5> REt

20 FRERVMG-EE 5

it




Ex e B H= ==X &% e
A-4-T NN —-ZFERIETE
I-(1) /A h)—BUE = 1.0
n-(2) EERE = 1.0
I-(3) S 88 /SLybREHEA DO = 10
I-(4) REMUNIEE = 1.0

IR —EERE 5

/VET




No, 19
AR S Bfy HeE B fiff Gt wE
I-(1) /A h)—E

(E#ERER)
B4 RERRUE 1E S HE m 20.6
BEEE RERRUE 1E S HE m 20.6
NER R 15 fisIRss  37H m 20.6

(E#ERER) HRE
(KIE)
mA A&H-60 m 1.5

AR 4% 40%40 @455
B KT KRR % 21%45@455 m 11.2
B GEtRt-5.58FLA m 1.4
B ST ERt-5.504 m 2.2
fE Rl 15%40 m 15
Ba—7—RU 35%35 m 11.8
AREER 55%25 m 5.5

(RITH) HARE




No, 20
AR S Bfy HE B fif &% wE

(HETE)

K RRO—HBA [RENCE N el m 21.7

VIR m 14.2

B RRUU—RBh (N=ATith) m 2.2

B ASSLAbRERA m 21.8

B ASIUALHERL T YRS R m 11.4

(NETE) HRE

(BETSH)

0OSCL AER AT m 11.8

OSCL A& m 1.4

fHEEE Sop m 20.9

(BETH) Hadt




No, 21
AT BE BT M= ==X +%8 e

(ZDHBEIETE)
K EILZILEi2 PRERIE 1S m 3.6
R ERV—bF Dy oRENT m 21.7

NH—BIR
BEHEEE W-1,200 H-2,100 LAl 1.0

BftE
mAEAF—ILET7— W-2,900 H-2,600 pdvil 1.0
=R Vil 1.0

MEWMT HR—kR—IL
7 LS L-4,000 H-1,500 3247 Aol 1.0 7 ILJ14>AD—REZ%
EEEYE/LZILE m 11.2
gEEYI—F 4 m 15.2
XASEO 600 LAl 2.0
AW-15 §81bh"IAt-4—>T7 L3N #)Lt-6{840 x 1,900 BeEROE vl 1.0

840 x 300 vl 1.0
J54K W=870 H=1,900 il 1.0

W=1,710 H=1,900 vl 1.0
INURY)—R /AT W-1,800—100F&2 BE & /1N vl 1.0
HFNEREKRE
BiELh—TY W=4,000 H=2,000 [3|Z vl 40
HFENERBEKRE S
BiELh—T> W=1,200 H=1,900 H3|= vl 40
MFNFRBERE
HSRAT74)LLEE(BIELA) W=820 H=530 Zaiil 8.0




No, 22
AR S By HE B fif &% wE
(ZDHhBIETE) HAaEt

(EE1RBEIS)

K ERIEES—FEE -5 m 19.7
K _EILRILEE W-100 EFTY m 20.2
7. L el VP m 20.2
Vo) —hEEEE m3 1.9
B av))-thys— m 29.6
B+ EFHMEE-OS AT+ ~N=t-6 m 17.0
AHEEEE W-800 H-—2,100 ZA7il 1.0
DEIEEIE Y 2 1.0

(BE1RWETIE) HAEt

INUR)—BUE

&>




No, 23
AR S Bfy HE B fif &% wE

1-(2) EEHE

(E#ERER)

B4 RERRUE 1E S HE m 20.6

BEEE RERRUE 1E S HE m 20.6

NER R 15 fisIRss  37H m 20.6

(EERER) HREt

(KIE)

K 1=vyhkon7— N—RR—Kt-25 FEH m 6.4

R 70— 5t-15 + A=-9.0 | FER m 6.4

MmAR KRHEH-60 m 9.9

B REtkt-5.58FLA BRER (S 3L m 32.1

AREEEFHE W-870 H-2,100

BEARBI7YaNT—  TAIH UM [#eH il 1.0

(RTH) HARE




No, 24
AR S Bfy HeE B fiff Gt wE

(HETE)

B BSKEETH W-100 m 4.0
B¢ PB9.5 + PB1258 (LGSTFih) m 8.0
XH BEHBERATHHEE m 6.5
XH# EBMBEER—Ft-9 585 T m 6.5
X EE m 10.6

(NETE) HRE

(BETH)

OSCL AER AT m 9.9
OSCL AER m 32.1
A&EE osCLitEIF m 1.7

(ZETZE) 5HRE




No, 25
AR S By HE B fif &% wE
(RETI=E)
£ W-1,800 H-2,700 D450  |231 =) 20
£ W-2700 H-2,700 D300 |33 =) 1.0
(REIZE) HAREt
(BE2-ZHERETSE)
K ERIEES—FEE- L5 m 4.6
ivh?ﬂ?#ﬂi& LMV m 6.4
B=
A& hAREE H60 m 8.1
LGS i+t
B HavRE-as PBt-125+9.5+A"¥t-6 [l | m 6.3
B E-—)LyRREE m 10.7
B AMILBE m 5.6
K EFHEE - 05 EHBEER—Ft-95 m 6.3
RLERELS L-1,800 F2 1.0
i P E o L-1,200 F2 1.0
Lo oo—FRERS X 1.0
BEREELS X 1.0




AR TES By | #=E B &% wE
SUS=A#EE Zayil 1.0
TEE-EE RYIGHEE L-1,800 X 1.0
KNy Rt = AL 5y 28 1.0
TA—TAAH—THFELS  [W-1,800 H—2,100 X 1.0
LB KIYEE W-1,800 H—2,100 X 1.0
RiEECEEEN S FaY 1.0

BWETE) HRE




No, 27
AR S By HE B fif &% wE

n-3) S8 SLYbEIRAR

(EERETE)

B4 SAEETRUE m 64.0

BIBEE ShEERIE m 64.0

B HEN)T—REE m 16.0

(EERER) HREt

(SLyhEEES)

R YR H| m3 3.6

HERL m3 2.4

ELsn m3 1.2

HAE RS Fa 1.0

Rt m 3.7

ERRA TR aas m3 0.6

BTary)—t 18N/mm m3 0.2

R 09—t 21N/mm m3 15 HEBED

& D13 N THASLIEMRIL SD295B kg 65.7




No, 28
AR S By HE B fif &% wE
a2 )—bTERFE = 1.0
N—R A H—200 m 15.8 BEET
37 YR B GTHRD JITAY m 9.2
VD) —MTREE m 6.8
TAI7 IV BB m 32.6
SUSFH# H-580 ®427 H $38.0@900 m 6.0
TEANTH— DI3t&mE Z 22.0
JVARMYTRAIL m 2.9
EILAILEEE m 1.5
INLyhEERE) HAE
(BETE)
BEXBERERFRE fEHIH—20040 5 £ X 1.0
FRAI7ILN m 29.2

BWETE) 5K

SHER SLYREIRAD &




No, 29
AR TES B | #HE B {if &% wE

I-(4) EEMNEE
1-w-1 (REMENERR)

HAEMIEA AYY=b-T7RI7IH (AN ESR) m3 31.2

REMEL BE77 m3 0.1

REMIEA BEREN -t m3 0.4

FEEMTEA NI -BEER<T m3 0.1

HEAEMIEA piy=) m3 1.0

FEMTEA =B t 0.1

F4 MIER YY=k-FRI7IF (BN EEE) m3 31.2

Fe 4 B BE737 m3 0.1

F4 MIER BEEEN - m3 0.4

F4 MIER n72-BEZR<Y m3 0.1

Fe 4 M B B& m3 1.0

Fe 4 M B =B t 0.1

(RAEMIEHIAHEW) 5 <&t




No, 30
AR TES B | #HE B {if &% wE
1-w-2 (EAMNS)
REMUS AYY=b-7RI7IH (BN ESR) m3 31.2
RAEMLS BE77 m3 0.1
HEEMWS BERER - m3 0.4
FAMWS nI2-BEZR<Y m3 0.1
REMUS py=) m3 1.0
REMNS R t 0.1

(RERNS) R

p=01110
—

RAEMUNES 5 &




No, 31
AR S Bfy HeE B fiff Gt wE

A-5 3[E FHLVF(GEER)

(RIE)

K 1=vykon7— N—RR—Ft-25 FHH m 18.0

KRN ZAt-12 m 18.0

mAk K&H-60 m 15.1

B SREiRt-5.58BLE m 26.5

B SO ERt-5.504 m 13.4

B a——RUE 35%35 m 11.8

E Ru& 10%40 m 1.3

(KI=%) & &t

(NETE)

K ERO—HEK m 18.0

B RSHREETH W-100 m 20.4

E¥ PB9.5 + PB12.58L (LGS T ih) m 39.9




No, 32
AR S By HE B fif &% wE
B RROS—hEL (R=ATFith) m 13.4
XH BEHBERATHEE m 6.8
X# (L AER—Ft-9, 58k TP BEREEH m 6.8
XA EE m 15.1
(METE) 5 &
(BETE)
0OSCL AER AT m 27.0
OSCL A& m 26.5
(BETE) 5 &
(ZDHEIETH)
ATULRAFHENGRL L-6,140 L-6,140 H-790 D-600 il 1.0
ATVLRAEE i}iﬁfo 9lTLF\fv?—24o =X 1.0
LA mEIKIRLATILAMR H-800 _W-700 el 2.0
# 1-6,140 H-600 P94 (SUS) £ el 1.0
Ho—x25 m 12.8

(ZDMBEETE) &

it




No,

33

AR

S

B fif

2

il

Ei fff

e

INET




No, 34
AR S Bfy HE B fif &% wE
A-6 FFEERT

(RIE)
K 1=vykon7— N—RR—Ft-25 FHH m 9.3
K 28— 5115 + R=t-9.0 [FEH m 9.3
MmAR KRHEH-60 m 3.9
B SmEMRt-55 BRER S 3L m 3.3
B S &ERt-5.584 BEER IS 3L m 7.7
fE RUE 10%40 m 3.9

AR 4% 40%40 @455
B KT KRR % 21%45@455 m 6.4

(KT=%E) 4% &
(HETE)
B RO —k (N=ATFith) m 7.7
B PB9.5 + PB12.584 (LGSTFith) m 4.8
XH BESHERIATH m 9.3
X SRR ERE-9.5 PB9.5 Fith m 9.3
XHERE EE m 23.2

(RETE) 7%

i




AT ==Xv2 M= e
(BETE)
2k
R70-1Yv% Ucit EIF m 9.2
OSCL m 7.7
OSCL m 3.3

(BETE)

I 5




No, 36
AT BE BT M= ==X +%8 e
A-7 a32=F4qI)L—L
Kk OAZAO7—E = 1.0
AF—)L &
Y N—Fz—3> W-7,270 H-3,200 = 1.0

I 5




No, 37
AR S By HE B fif &% wE
A-8 FEERT1-28UE
108 BE3 XF—ILEHE  |HIEEETD il 1.0
el FHRESEE H-800 — H-700&9 % m 24.5
fEE2 FHESSEE H-800 — H-700&9 % m 48.2
BEE%1 SREERYIS ETEALE H-900 L-1,750+580 A7l 1.0
RS2 SREEEYLS ETEALE H-700 L-1,790 a3l 1.0
BEER2 1P
AF—ILRT7—5%E W-800 H-2,100 m 4.0

I




No, 38
AT BE B H= ==X &% e
A-9 2ETSR FEREFER

Emski SD295A D13 ke 189.0
kAR I T AT kg 182.0
BHEERE kg 182.0
TIHIVT o h— D13 #&ME X 28.0
TIRAIVToH— D13 FRIE 76.0
Taig m 18.9
TR L B m 11.1
B ERE m 30.0
EN $THE B th (15%15) m 18.2
T EH a—F25 15% 15 m 18.2
a9 )—k 21IN/mm m3 2.6
TR F R EE8 m3 2.6
K

ZEIEFK m 49
Ee:E

ZEIEFK m 3.9
K

ngﬂ(%)b’ﬂ)bﬁ:’( BhKT m 49
BE

WAT44 b m 11.1
)_EE

ITRLAEE m 11.1




No,

39

AR

S

B fif

2

il

Ei fff

e

E%

BHKTF

3.9

BAKELANECT

I




No, 40
£ F HE =R v HE ==X +%8 wE
A-10 RETEH
2 W-1,300 H-1,600 D-700
SEERATREAN i E B =1 40
2
BE T—JI)L W-1,350 H-700 D-900 =i 2.0
2
2iRARE W-1,800 D-900 H-300 = 40
2
2RARE W-1,800 D-900 H-150 & 2.0
3k R
S HERBIRE W-1,800 D-800 T-30 =1 6.0
SEHRERER R 1RBRERE
BEMABRE | & 1.0
SEHRERER R 1RBRERE
AERBARE I =) 7.0
SEHRERER R 1RBRERE
BIREEBE SR |w-1,800 H-2,000 D-600 = 2.0
SEHIRERERZ-1RRENZE
WARE #RARUAHEE W-1,800 H-2,000 D-600 & 10
2[5 E =

I

.I.

pal1111




No, 41
AR S Bfy HeE B fiff Gt wE
A-11 F D .
bMLT—REHIE m%;g;ﬁ%%&?é il 12.0
BLpE= vy —RAyFIRE 4R 1.0
HIZE FISHY g AL THETR H-2,800 aiil 3.0
1L BRIl BEr7—RE A7l 1.0
=41l B= il 11.0
CDM AR FBHR = 1.0
Bt FOUILIRER{E W-7,800 H-1,100 =X 1.0

/) g




No, 42
AT BE B H= ==X &% e
A-12 SAESRIETE
1BEFEEAD B/
7aA—T 1A FIERE L-12,000 H-1,600 LAl 1.0
2f% FEERS A#BOTE W-4,600
REFERUT H-1,400 LAl 1.0
MEER3 RTULAFREST SUS304 %34T m 255
7o {8 8 R
EREAE (A2 AR ) 454 SUS304 L—5x 65X 6501 T vasil 31.0
7o {8 8 R THh IR 4
1EFE4E (EARE) ¥ 57a—) 4 m 61.7
7o {8 8 R
DP $Ep m 14
7o {8 8 R
KIFRELE EREHILS D LiRt-6 m 26.5
RKAZEBZ AEPZEEZ AREER m 323
X FAEP FAhIV AR E m 26.5
D% TR LEHA Kimt = 1.0
FRAE (RTULRAEXF il 2.0
A HE) il 1.0
NEEHY—=—2 4 m 1740.0

I\ g




No, 43
AR S Bfy HeE B fiff Gt ]
A-13 S ERBA/K TS
TYXERE-EIR = 1.0
U—bBAK HITH BRTIE TE m 167.0
" sf kY m 28.8
HAEE o—F% U WA m 72.0
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